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QUESTION 1

A business has employees in a call center that need access to the same database and call center applications and
wants to make it easy to deploy, patch and upgrade these applications. 

Which Horizon (with View) feature meets this business need? 

A. Persona Management 

B. Dedicated Pools 

C. Full Clones 

D. Linked Clones 

Correct Answer: A 

 

QUESTION 2

An administrator is attending a planning meeting for a VMware Horizon (with View) deployment and is asked for a
definition of end user computing? 

How should the administrator respond? 

A. End user computing is the process of granting everyone administrator-level access to their virtual desktop. 

B. End user computing is maintaining the licenses for each software package used within the environment. 

C. End user computing is the process of life cycling everyone\\'s physical desktop every three years. 

D. End user computing is the process of providing data access, regardless of the client platform. 

Correct Answer: D 

 

QUESTION 3

An administrator wants to ensure ease of access to company systems for employees, while preventing unauthorized
access when VMware Horizon Desktop as a Service (DaaS) has been implemented. 

Which two VMware Horizon DaaS features will help the administrator meet corporate requirements? (Choose two.) 

A. Brokered access to VMware Workspace. 

B. Onsite Security Server. 

C. Automatic adoption of existing security police. 

D. Integrated two-factor authentication capabilities. 

Correct Answer: AB 
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QUESTION 4

Your manager has asked you to implement a VMware Horizon (with View) solution in your environment. 

Which solution is best suited for a group of users where the desktop must be deleted and recreated after each use? 

A. Floating Pools 

B. Dedicated Pools 

C. Manual Pools 

D. Dynamic Pools 

Correct Answer: D 

 

QUESTION 5

Which technique does VMware vRealize Operations for Horizon 6 use to determine the upper and lower range of
normal behavior for each metric? 

A. Pro-Active Smart Alerts 

B. Super Metrics 

C. Dynamic Thresholding 

D. Self Learning Analytics 

Correct Answer: C 
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